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1. RHEREHEORE
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B, KEHSEMOIMbYDEM) AT LFHETT,

- EEFHFRFMEE (83,350, ) EEHREFHEE (3~54 ARIMD 37 BREIOLNGELPGOE A i) DZEEE100M 1ZDF,
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(1) FYRFHEEDEE
<LNGF 8 A ffi4g > <LPG 8 A ffit >
152,010 (/%) X 0.9576 + 96,760 (4/".) X 0.0466 = 150,073.792 (M/*.)
= 150,070 (H/".) XI0ARBZEMERA

(2) TR A A% & 24 T R4S & D Z 88 (RBHEIE EB)ER) DETE

<EHRFHTEE > < EHEE Y R >
133,360 (F:.I/b/) - 83,350 (F:.Vh/) = 50,010 (F:.I/b/)
= 50,000 (/") X100 RFHELIET

X HRBHEAE A LR (133,360M /" ) B A =12, TR EE% 133,360/ . EL TR LI EfiETYET

Q) REHEHMORBEDOEE

<A L B%E > <HEF=E>
50,000 (FH/".) X 0.081 (F4/m) = 100 (/") X (1 4+ o10) = 4455 (F/m)
= 4455 (M/m) MM ESLLUTEYRET

(4) it EMEEE (BA) OFEE (—BRARFHBIR HERBDHE)

<HEHMHE> <pEEHSBMORRE> <BUFZIES >
169.03 (F/m) + 4455 (F/m) - 30.00 (/) = 183.58 (/m)

(& %) 2023F1 ARH# D OUEHEEMED LR

<2023F2 A DR EFEHH > <2023F1 A DREF S HH>
183.58 (AA/m) — 213.58 (A/m) = A30.00 (A/m)

NER - ARMERHEENAS REEOBAFIECEOCESIZ,

(5) HR¥ & (2023 F2 A8t Fiad)

<EAEE> <BEBHEEH> <HRERE>
1,588.88 (H/A) + 18358 (A/m) X 31(m/R) = 7,279.86 (M/A)
= 72719 (H/R) MIAXREEIET
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